CAHPv3

Notes Ops

Iw rd, simm10(rs)

Ib rd, simm10(rs)

Ibu rd, simm10(rs)
sw rs, simm10(rd)
sb rs, simm10(rd)
li rd, simm10

add rd, rs1, rs2
sub rd, rs1, rs2
and rd, rs1, rs2
xor rd, rs1, rs2
orrd, rs1, rs2
Isl rd, rs1, rs2
Isrrd, rs1, rs2
asrrd, rs1, rs2

addi rd, rs1, simm10
andird, rs1, simm10
xori rd, rs1, simm10
orird, rs1, simm10
Isli rd, rs1, uimm4
Isri rd, rs1, uimm4
asrird, rs1, uimmé4

beqrs1, rs2, simm10
bne rs1, rs2, simm10
blt rs1, rs2, simm10
bltu rs1, rs2, simm10
ble rs1, rs2, simm10
bleu rs1, rs2, simm10
jsimm16
jal simm16

Ops

EELEL
RELALY

Notes

Iwsp rd, uimm7(sp)
Swsp rs, uimm7(sp)
Isi rd, simm6
lui rd, simm6

mov rd, rs
add2 rd, rs
sub2rd, rs
and2 rd, rs
xor2 rd, rs
or2rd, rs
Isl2 rd, rs
Isr2 rd, rs
asr2rd, rs

How it works 23 22 21

rd <- [rs + simm10]
rd <- [rs + simm10]
rd <- [rs + simm10]
[rd + simm10] <-rs
[rd + simm10] <- rs
rd <- simm10

rd <-rs1 + rs2 x=0 x=0 x=0
rd <-rs1 - rs2 x=0 x=0 x=0
rd <-rs1 & rs2 x=0 x=0 x=0
rd <-rs1 A rs2 x=0 x=0 x=0
rd <-rs1|rs2 x=0 x=0 x=0
rd <-rs1 <<rs2 x=0 x=0 x=0
rd <-rs1>>rs2 x=0 x=0 x=0
rd <-rs1 >>>rs2 x=0 x=0 x=0
rd <-rs1 + simm10
rd <-rs1 & simm10
rd <-rs1 A simm10
rd <-rs1 | simm10
rd <-rs1 << uimm4 x=0 x=0 x=0
rd <-rs1 >> uimm4 x=0 x=0 x=0
rd <-rs1 >>> uimm4 x=0 x=0 x=0
if rs1 == rs2 then PC <- PC + simm10
if rs1 !=rs2 then PC <- PC + simm10
if rs1 <rs2 then PC <- PC + simm10
if rs1 < rs2 then PC <- PC + simm10
if rs1 <=rs2 then PC <- PC + simm10
if rs1 <= rs2 then PC <- PC + simm10
PC <-PC + simm16
RA <- PC + 4, PC <- PC + simm16

How it works 23 22 21

rd <- [sp + uimm7]
[sp + uimm7] <-rs
rd <- simm6

rd <- (simm6 << 10)

rd <-rs
rd<-rd +rs
rd<-rd-rs
rd<-rd &rs
rd<-rd”*rs
rd<-rd|rs
rd<-rd<<rs
rd<-rd >>rs
rd <-rd >>>rs
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Isli2 rd, uimm4
Isri2 rd, uimm4
asri2 rd, uimm4
addi2 rd, simm6
andi2 rd, simm6

jalrrs

jrrs

js simm11
jsal simm11

nop

rd <- rd << uimm4
rd <- rd >> uimm4
rd <- rd >>> uimm4
rd <- rd + simm6

rd <- rd & simmé

RA<-PC+2,PC<-rs

PC<-rs

PC <- PC + simm11

RA <-PC + 2, PC <- PC + simm11
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